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CH,
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. Compréhension écrite

Replacez les expressions suivantes dans le dialogue : choisir, le ticket, échange, elle ne I’aura pas, échanger, elle a déja.

1. Bonjour, monsieur. Voila, j’ai acheté ce livre pour une amie, mais (1) elle a déja. Est-ce que je pourrais I’ (2)
............... pour un autre.

2. Oui, bien siir, monsieur. Vous avez (3) ............... de caisse?

3. Oui, le voila.

4. Trés bien. Vous préférez un remboursement ou un (4) ............... ?

5. Un échange. Je vais (5) ............... un autre livre. J” espére qu’ (6) ............... , celui-la.

Il. Vocabulaire

Soulignez les intrus.

Example:

regle gomme crayon stylo rayon
1. chaleur voyageur promeneur opérateur animateur
2. fiévre diarrhee lievre grippe tuberculose
3. Cambodge Vietnam Chine Laos France
4. carre cirque triangle cercle rectangle
5. college faculte universite ¢galité lycee
6. amoureusement facilement pauvrement appartement librement
7. Birmanie Phnom Penh Bangkok Vientiane Hanoi
8. marcher habiter oranger demander jouer

IIl. Grammaire

A. Répondez aux questions en remplacant les mots soulignés par “le”, “la” , “les” , “lui”.

Example: Tu vois mon livre ? — Oui, je le vois.
— Non, je ne le vois pas.

1. Il regarde la télévision?

N O | PO PP
2. Vous préférez les voitures de couleur rouge?

3 NGO, « orvie s oo s ainis 56686 w508 /555 w813 435706 06 SFTHTEE 6587 & SOLR § SIS o Bl o S1iu'a BI04 ity  sinire amieire o sia o siaaly Sprre v ioi
3. Tu parles a ton professeur?
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B. Reliez les phrases A et B selon I’ exemple.

A B C
1- Elle ne sait a- les gens ne sont pas contents. l—>c¢c
2- 1l va se coucher b- la récolte n’est pas bonne. 2>
3- Puisque I’eau manque, c- ni le francais ni le chinois. 3>
4- Comme le prix du riz augmente, d- donc elle réussira le bac. 4 —
5- Cette éléve travaille bien, e- sans rien manger. 5>
f- elle ne réussira pas le baccalauréat.

IV. Expression écrite

Pour réussir le baccalauréat, qu’est-ce-que vous avez appris au lycée? Et a la maison, qu’est-ce-que vous avez fait?
(environ 100 mots)

o
(O8]
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Compréhension écrite.

1
2
3.
4.
5
6

© N LR

. échanger
. le ticket

un échange

. choisir
. elle ne I’ aura pas

. Vocabulaire.

chaleur
lievre
France
cirque
égalité
appartment
Birmanie
oranger

Grammaire.

A. 1. Oui. il la reaarde
2. Non, je ne les préfére pas/Non, nous ne les préférons pas

3. Oui, je lui parle

B. Reliez

2—>e, 3-b, 4—>a, 5>d

IV. Expression écrite.

Consign

Richesse des idées
lexique
Morphosyntaxe
Cohérence

ATENaN[fy B/ AT NN
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I. Reading.

Read the text and fill the gaps with the words in the box.
Gap one has been done as an example.

( )economic  ( )earning () retirement

( )employee () profitable ( )applications
(1)advertising ( )unemployed ( ) resignation

() qualified () disagreed

Leaving a job

I recently left my job in an (1) ...advertising... agency
after a disagreement with my boss. She accepted my (2)
............ but warned me that because of the (3) .........
situation, I might have to get used to the idea of being (4)
......... for a while. I thought that she was trying to make a
point, but after I had made over fifty (5) cecievuonsns to other
companies, I realised that she was right. Although I am a
(O T designer, I didn’t receive any offers of a job.
After that I tried working from home, but it was not very
@ ....... .. Then I became and (8) ............ in a fast-food
restaurant, even though my (9) ............ were extremely
low. I wish I had accepted early (10) from my old
job. That is what I (11) ......... with my boss about!

Il. Grammar.

There are four answers after each statement. Only one
answer is correct. Choose the correct letter a, b, c, or d.
The first one was done as an example for you.

Example: We saw ...... b...... children in the park.

a- any b- some c- much d-a
1. We haven’t got ...... money to buy a new car yet.
a- quite b- too much c- too many d- enough
2. The person ...... my hair usually does a very good job.
a- who he cuts b- who cuts
c- cuts d- cuts it
3. We .......... to the baseball game when it started to rain.
a- are driving b- drives

c- driven d- were driving

4. The new bridge ....... ..... before the end of next month.
a- will be completed  b- will complete

c- is completed d- completes

5. Their marriage wouldn’t be so good if they

well with each other.
a- communicated b- didn’t communicate

¢- don’t communicate  d-communicate

HATEN Al DATEN AN IR
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lil. Vocabulary.

There are four answers after each statement. Only one
answer is correct. Choose the correct letter a, b, ¢, or d.
The first one was done as an example for you.

Example: What are you going to do when you ...d...
school?

a- conclude b-end  c- complete d- leave

I.Isaw anasty ............ between two cars this morning.
a-damage  b- danger c- accident d- happening

2. All medicines should be kept out of ......... of children.
a- hand b-touch c-contact  d-reach

3. Everything in the sale has been ......... to half price.
a-reduced  b- decreased c- bargained d- lowered

4. At work, Vuthy always arrives on time, he’s so .........

a- timeless  b- punctual c- boring d- careful
5. 1’1l take you over an hour to get to the city centre in
............ hour.

a- rush b- busy c- run d- crowded
IV. Writing.

Write an essay. “Role of women in modern Cambodian

society” at least 80 words.

FIRIFRISSIGRS

l. Reading.

3. economic

5. applications
7. profitable
9. earning

11. disagreed

2. resignation
4. unemployed
6. qualified

8. employee
10. retirement

Il. Grammar.
1.d  enough
2.b  who cuts
3.d  were driving _
4.a  will be completed
5.b  didn’t communicate
lll. Vocabulary.
I.¢ accident
2.d reach
3.a reduced
4.b  punctual
S.a rush
IV. Writing.
1. Content
2. Grammar

3. Spelling
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